program gold_seshenie;

uses crt;

label 1;

var

y,z,a,b,x,e,Y1,Z1:real;

function V1 (v:real):real;

begin V1:=24-2/3*v+1/30*sqr(v) end;

begin

clrscr;

writeln('vvedi a');

readln(a);

writeln('vvedi b');

readln(b);

writeln('vvedi e');

readln(e);

y:=0.618*a+0.328*b;

z:=0.328*a+0.618*b;

Y1:=V1(y);

Z1:=V1(z);

1:
if Y1<Z1 then

begin

b:=z;

   if b-a>e then

   begin

   z:=y;

   Z1:=Y1;

   y:=0.618*a+0.382*b;

   Y1:=V1(y);

   goto 1;

   end;

end

else

begin

a:=y;

   if b-a>e then

   begin

   y:=z;

   Y1:=Z1;

   z:=0.382*a+0.618*b;

   Z1:=V1(z);

   goto 1;

   end;

   end;

   x:=(a+b)/2;

   writeln( 'x=',x:6:2);

   readkey;

   end.

